

Laurie Platkin

Procurement Specialist II

City of Fort Lauderdale • Procurement Services Division

100 N. Andrews Avenue, 619 • Fort Lauderdale, Florida 33301

954-828-5933 Fax 954-828-5576

purchase@fortlauderdale.gov

ADDENDUM NO. 5

RFP/ ITB No. 12044-885
TITLE: Turf Grass Maintenance - Fire, Parking, Utility

ISSUED: (10/13/2017)

This addendum is being issued to make the following change(s):

- New Updated Exhibit A Pricing Sheet Revision 1
 a. Replaces Pages 27-30 of original bid packet
- 2. The opening date has been changed to (October 24, 2017).

All other terms, conditions, and specifications remain unchanged.

Company Name: CEM LANDSCAPING TNC (please print)

Bidder's Signature: GARA

TABLE OF CONTENTS

~			-	-
SEC	In	TAT	1	1
1300		1.0	н.	

EXECUTIVE SUMMARY

EXPERIENCE AND QUALIFICATION

APPROACH TO SCOPE OF WORK

RERERENCE

MINORITY/WOMEN (M/WBE) PARTICIPATION

PROPOSAL CERTIFICATION

EXHIBIT A - PRICING SHEET WITH LOCATIONS

NON-COLLUSION STATEMENT

LOCAL BUSINESS PREFERENCE (LBP)

CONTRACT PAYMENT METHOD

SAMPLE INSURANCE CERTIFICATE

BUSINESS LICENSE

Executive Summary

C&M LANDSCAPING INC

We have been in business since 2002

We are located in the City of Ft Lauderdale 1548 NW 12th TER

We have been a contractor for the City of Ft Lauderdale for the past 10 years on different contracts as well as the present vendor for this contract

Clinton Whaley (President)

Milton Scott (Vice President) On site Supervisor

Angela St Hubert (Secretary)

Experience and Qualifications

For the past 10 years we have been a contractor for the City of Ft Lauderdale providing Turf Grass Maintenance Service for many properties threw out the city. We currently service the North and South-East road ways. In addition to the Roadways we provide Lot Maintenance for Community Development Properties and along the Railroad/Row within city limits.

Approach to Scope of Work

We are the current vendor for this project for the past 2 years. Thus far our main focus has been to fulfill the parameters of the contract to the satisfaction of the City of Fort Lauderdale. This includes completing the cut and trim cycles as scheduled. Ensuing that the work is inspected and turned in according to schedule. In addition, we are available to complete work requested on an as needed by the City bases. In 2017 we assisted with the general clean up and restoring the city after Hurricane Irma.

References:

Company Name: City of West Park

Address: 3501 SW 56 Blvd Email: Dmillien@westpark.org

Contact: Dan Millien Phone: 954 889-4162

Total cost of Project (E) 60K Actual:57K Description: Median Maintenance

Company Name: Ft Lauderdale Housing Authority

Address: 425 SW 4th Ave Email: kchin@hacfl.com Contact: Kerry Ann Chin Phone: 954 525 6444

Total cost of Project (E) 30K Actual:30K

Description: Property Maintenance

Company Name: Boys&Girl Club of Broward County

Address: 877 NW 2nd ST

Email: mthomas@bgcbc.org

Contact: Markess Thomas

Phone: 954 529-6900

Total cost of Project (E) 25K Actual:25K

Description: Property Maintenance

85% of C&M Landscaping Inc work load consist of contract for the city

Lot Maintenance Community Development Properties

NE/SE Roadways

Railroad/Row maintenance



Office of Economic and Small Business Development

Governmental Center Annex
115 S. Andrews Avenue, Room A680 • Fort Lauderdale, Florida 33301 • 954-357-6400 • FAX 954-357-5674 • TTY 954-357-5664

This Certificate is Awarded to:

C&MLANDSCAPING, INC.

As set forth in the Broward County Business Opportunity Act of 2012, the certification requirements have been met for:

County Business Enterprise Small Business Enterprise Anniversary Date: February 7th

Authorized Representative

The Office of Economic and Small Business Development must be notified within 30 days of any material changes in the business which may affect ownership and control.

Failure to do so may result in the revocation of this certificate and/or imposition of other sanctions.

A service of the Broward County Board of County Commissioners www.broward.org/smallbusiness



GV22478 Trainee ID #

Certificate of Training Best Management Practices Florida Green Industries

UF FLORIDA

IFAS Extension

The undersigned hereby acknowledges that

Clinton L. Whaley

has successfully met all requirements necessary to be fully trained through the Green Industries Best Management Practices Program developed by the Florida Department of Environmental Protection with the University of Florida Institute of Food and Agricultural Sciences.

Technon

Not valid without seal

M. Orfanedes
Instructor

5/23/2013

Date of Class

DEP Program Administrator

BID/PROPOSAL CERTIFICATION

<u>Please Note:</u> If responding to this solicitation through BidSync, the electronic version of the bid response will prevail, unless a paper version is clearly marked by the bidder in some manner to indicate that it will supplant the electronic version. All fields below must be completed. If the field does not apply to you, please note N/A in that field.

n accordance wi	1	D	^							
		m Landsoapin	JILL	E	EIN (Optional):					
ddress: 15	18 NW 12	th Toz								
city: PT. C	Ardendale		Sta	ate: PL	Zip:	33311				
elephone No.9	5447/ 6205	FAX No.	En	nail: <u>Condin</u>	nlandsc	Apingnole	grai Le			
elivery: Calend	ar days after receip	t of Purchase Order	(section 1.02 of	General C	onditions): ID				
otal Bid Discou	nt (section 1.05 of	General Conditions	s): -0-							
oes your firm q	ualify for MBE or W	/BE status (section 1	1.09 of General	Conditions):	MBE WBI	E			
				42.1	50 m v 12		_			
DDENDUM AC	CKNOWLEDGEME Proposal:	NT - Proposer ackno	wledges that the	following a	addenda h	ave been receive	ed and are			
		Addendum No.	Data Issued	Addo	ndum No	Date Issued				
ddendum No.	Date Issued	3	10/4/17	Adde	ndum No.	Date Issueu				
2	9/12/17	5	16/13/17	1						
	111411		10/12/11	-		-				
equirement in the ear the attached and be attached ach is listed a accessarily accessories	his competitive soling space provided by the difference of the dif	on or have variance citation you must spelow all variances or exceptions or variance space provided for the space provided of the sp	ecify such except ontained on other ces will be deen below. The City tained in the bel	otion or vari er pages wit ned to be p does not, ow space, it	ance in the thin your rart of the by virtue t is hereby	e space provide response. Addition response submit of submitting a implied that you	ed below o onal pages tted unless a variance ur response			
equirement in the eference in the nay be attached uch is listed a ecessarily acces in full complia	his competitive soling space provided by the difference of the dif	citation you must spelow all variances con exceptions or variance space provided for no statement is conetitive solicitation. If the space provided is conetitive solicitation.	ecify such except ontained on other ces will be deen below. The City tained in the belied you do not have also click the "	otion or varier pages with ned to be por does not, ow space, it variances,	ance in the thin your rart of the by virtue t is hereby simply ma	e space provide response. Addition response submitting a implied that yourk N/A. If submite space in the submit implied that yourk N/A. If submite space in the submite space in	ed below o onal pages tted unless a variance ur response			
equirement in the oference in the eay be attached uch is listed a ecessarily acce in full complia	his competitive soling space provided by the difference of the dif	citation you must sp elow all variances co exceptions or varian he space provided f no statement is con etitive solicitation. If	ecify such except ontained on other ces will be deen below. The City tained in the belied you do not have also click the "	otion or varier pages with ned to be por does not, ow space, it variances,	ance in the thin your rart of the by virtue t is hereby simply ma	e space provide response. Addition response submitting a implied that yourk N/A. If submite space in the submit implied that yourk N/A. If submite space in the submite space in	ed below o onal pages tted unless a variance ur response			
equirement in the eference in the may be attached uch is listed a ecessarily acce in full complia	his competitive soling space provided by the difference of the dif	citation you must spelow all variances con exceptions or variance space provided for no statement is conetitive solicitation. If the space provided is conetitive solicitation.	ecify such except ontained on other ces will be deen below. The City tained in the bell you do not have also click the "	otion or varier pages with ned to be por does not, ow space, it variances,	ance in the thin your rart of the by virtue t is hereby simply ma	e space provide response. Addition response submitting a implied that yourk N/A. If submite space in the submit implied that yourk N/A. If submite space in the submite space in	ed below of onal pages tted unless a variance or response			
equirement in the eference in the may be attached uch is listed a secessarily access in full complia esponse electr	his competitive soli space provided be d if necessary. No and contained in t ept any variances. I nce with this comp ronically through	citation you must spelow all variances con exceptions or variance space provided from the statement is constituted solicitation. If BIDSYNC you must	ecify such exceptoration of the ces will be deen below. The City stained in the below do not have also click the "	otion or varier pages with med to be portion of does not, ow space, it variances, Take Excep	ance in the thin your rart of the by virtue tis hereby simply manution" but	e space provide response. Addition response submitting a implied that you ark N/A. If submitton.	ed below or onal pages itted unless a variance or response itting you			
requirement in the reference in the response electrons of the below signal instructions, or response, that exemplary dame or public advertismount of Five	his competitive soli space provided be d if necessary. No and contained in te ept any variances. I nce with this comp ronically through attory hereby agrees conditions, specific tachments includin accept a contract this bid/proposal. t in no event shall ages, expenses, or isement, bid confer Hundred Dollars	citation you must spelow all variances con exceptions or variance space provided for no statement is conetitive solicitation. If the space provided is conetitive solicitation.	ecify such exceptoratained on other ces will be deen below. The City stained in the below do not have also click the " also click the city and such also hereby agreers and fully understals of this compet waluations, oral patation shall not	ervices at the acceptance, indirect, indirect itive solicital apply to cl	ance in the thin your rart of the by virtue tis hereby simply made to the price(s) ions contains a required to required to recovers the covers to for submit to process, or awalaims arisi	e space provide response. Addition response submitting a implied that you ark N/A. If submitton. and terms stated ained in the bid/p By submitting all terms, conditing or attempting all, consequential ss, including but rd proceedings.	d below of conal pages ted unless a variance or response itting you disting yo			
equirement in the ference in the ference in the flay be attached uch is listed a secessarily access in full complia esponse electrol fine below signal instructions, ave read all attroposal I will pecifications of response, that exemplary dama to public advertisement of Fivendemnification of the second in the	his competitive soli space provided be d if necessary. No and contained in te ept any variances. I nce with this comp ronically through attory hereby agrees conditions, specific tachments includin accept a contract this bid/proposal. t in no event shall ages, expenses, or isement, bid confer Hundred Dollars	citation you must spelow all variances or exceptions or variance of exceptions or variance of the space provided of no statement is concetitive solicitation. If the specifications addenda, legally the specifications are if approved by the The below signatory at the City's liability for lost profits arising our rences, site visits, even (\$500.00). This limit	ecify such exceptoratained on other ces will be deen below. The City stained in the below do not have also click the " also click the city and such also hereby agreers and fully understals of this compet waluations, oral patation shall not	ervices at the acceptance, indirect, indirect itive solicital apply to cl	ance in the thin your rart of the by virtue tis hereby simply made to the price(s) ions contains a required to required to recovers the covers to for submit to process, or awalaims arisi	e space provide response. Addition response submitting a implied that you ark N/A. If submitton. and terms stated ained in the bid/p By submitting all terms, conditing or attempting all, consequential ss, including but rd proceedings.	d below of conal pages atted unless a variance or response atting your disting your distinguished at the proposal. The proposal distinguished at the proposal disti			
cequirement in the ference in the ference in the ference in the flay be attached uch is listed a ecessarily access in full complia esponse electrons of the below signal instructions, ave read all attroposal I will pecifications of response, that exemplary dama is public advertional public advertional formula of the five fidemnification of the first fidemnification of the first fidemnification of the first fidemnification of the first fidemnification of the fidemnificatio	his competitive soli space provided by diffuse provided by diffuse provided in the pt any variances. Indeed, with this compronically through the provided pr	citation you must spelow all variances or exceptions or variance of exceptions or variance of the space provided of no statement is concetitive solicitation. If the specifications addenda, legally the specifications are if approved by the The below signatory at the City's liability for lost profits arising our rences, site visits, even (\$500.00). This limit	ecify such exceptoratained on other ces will be deen below. The City stained in the below do not have also click the " also click the city and such also hereby agreers and fully understals of this compet waluations, oral patation shall not	ervices at the acceptance, indirect, indirect itive solicital apply to cl	ance in the thin your rart of the by virtue tis hereby simply made to the price(s) ions contains a required to required to recovers the covers to for submit to process, or awalaims arisi	e space provide response. Addition response submitting a implied that you ark N/A. If submitton. and terms stated ained in the bid/p By submitting all terms, conditing or attempting all, consequential ss, including but rd proceedings.	d below of conal pages atted unless a variance or response atting your disting your distinguished at the proposal. The proposal distinguished at the proposal disti			
cequirement in the ference in the ference in the ference in the flay be attached uch is listed a ecessarily access in full complia esponse electrons of the below signal instructions, ave read all attroposal I will pecifications of response, that exemplary dama is public advertional public advertional formula of the five fidemnification of the first fidemnification of the first fidemnification of the first fidemnification of the first fidemnification of the fidemnificatio	his competitive soli space provided by diffuse provided by diffuse provided in the pt any variances. Indeed, with this compronically through the provided pr	citation you must spelow all variances or exceptions or variance of exceptions or variance of the space provided of no statement is concetitive solicitation. If the specifications addenda, legally the specifications are if approved by the The below signatory at the City's liability for lost profits arising our rences, site visits, even (\$500.00). This limit	ecify such exceptontained on other ces will be deen below. The City stained in the below do not have also click the " and article(s) or sall advertisement, and fully understand fully understand fully understand fully exceptonated by agreer respondent's direct of this competivaluations, oral particle in this competition in this competition.	ervices at the acceptance, indirect, indirect itive solicital apply to cl	ance in the thin your rart of the by virtue tis hereby simply made to the price(s) ions contains a required to required to recovers the covers to for submit to process, or awalaims arisi	e space provide response. Addition response submitting a implied that you ark N/A. If submitton. and terms stated ained in the bid/p By submitting all terms, conditing or attempting all, consequential ss, including but rd proceedings.	d below of conal pages atted unless a variance or response atting your disting your distinguished at the proposal. The proposal distinguished at the proposal disti			
the below signated in the secessarily access in full compliance in ful	his competitive soli space provided by a finecessary. No and contained in the pt any variances. I nee with this compronically through the tory hereby agrees conditions, specific tachments includin accept a contract this bid/proposal. It in no event shall ages, expenses, or isement, bid conference Hundred Dollars or the City's protest	citation you must spelow all variances or exceptions or variance of exceptions or variance of the space provided of no statement is concetitive solicitation. If the specifications addenda, legally the specifications are if approved by the The below signatory at the City's liability for lost profits arising our rences, site visits, even (\$500.00). This limit	ecify such exceptontained on other ces will be deen below. The City stained in the below do not have also click the " and advertisement, and fully understained fully understained hereby agreerespondent's direct of this competity aluations, oral particular of this competition in this competition.	ervices at the and condition what is acceptances, by virtue ect, indirect are solicitation apply to clive solicitation.	ance in the thin your rart of the by virtue tis hereby simply made to the price(s) ions contains a required to required to recovers the covers to for submit to process, or awalaims arisi	e space provide response. Addition response submitting a implied that you ark N/A. If submitton. and terms stated ained in the bid/p By submitting all terms, conditing or attempting all, consequential ss, including but rd proceedings.	d below of conal pages atted unless a variance or response atting your disting your distinguished at the proposal. The proposal distinguished at the proposal disti			
equirement in the ference in the lay be attached uch is listed a eccessarily access in full complia esponse electrons are read all attroposal I will pecifications of response, that exemplary dama is public advertional mount of Five indemnification of the layer in the layer indemnification of the layer in the layer indemnification of the layer in the layer in the layer indemnification of the layer in	his competitive soli space provided by a finecessary. No and contained in the pt any variances. I nee with this compronically through the tory hereby agrees conditions, specific tachments includin accept a contract this bid/proposal. It in no event shall ages, expenses, or isement, bid conference Hundred Dollars or the City's protest	citation you must spelow all variances or exceptions or variance of exceptions or variance of the space provided of no statement is concetitive solicitation. If the specifications addenda, legally the specifications are if approved by the The below signatory at the City's liability for lost profits arising our rences, site visits, even (\$500.00). This limit	ecify such exceptontained on other ces will be deen below. The City stained in the below do not have also click the " and advertisement, and fully understained fully understained hereby agreerespondent's direct of this competity aluations, oral particular of this competition in this competition.	ervices at the acceptance, indirect, indirect itive solicital apply to cl	ance in the thin your rart of the by virtue tis hereby simply made to the price(s) ions contains a required to required to recovers the covers to for submit to process, or awalaims arisi	e space provide response. Addition response submitting a implied that you ark N/A. If submitton. and terms stated ained in the bid/p By submitting all terms, conditing or attempting all, consequential ss, including but rd proceedings.	d below of conal page: tted unles a variance or responsiting you discount this signed this signed to subme, special of the total limite exceed the conal page to the total limite exceed the conal page to subme, special of the total limite exceed the conal page to subme, special of the total limite exceed the conal page to subme, special of the total limite exceed the conal page to subme the total limite exceed the conal page to subme the total limite exceed the conal page to subme the total limite.			

ltem Number	Description of Locations	Service Needed	# of Annual Services	U/M	Unit Price	-	Total
	nd SWALES						
1	ROW swale on Seabreeze, Castillo to Sebastian on east side (2 – triangle-shaped lots)	Mowing	26	Each	\$ 100.00	\$	2,600.00
2	Hedge Service for above area	Hedge	9	Each	\$ 100.00	\$	900.00
3	Galt Ocean Mile, Galt Ocean Dr. swale on west side, NE 41st Street to Oakland and A1A, and east side of A1A from Oakland up to Galt sign — Grass only, no hedges	Mowing	26	Each	\$ 225.00	\$	5,850.00
4	Building Services Center, 700 NW 19 th Ave.	Mowing	26	Each	\$ 250.00	\$	6,500.00
5	Hedge Service for above area	Hedge	9	Each	\$ 350.00	\$	3,150.00
6	Litter removal service at Building Services Bldg. – 26 services (litter removal from parking lot and areas inside and outside of perimeter fence must be performed on non-mow /trim weeks	Litter Removal	26	Each	\$ 75.00	\$	1,950.00
7	SW 1st Ave. and SW 16th St. median and swale on east side of railroad track (At Antique Car Museum)	Mowing	26	Each	\$ 35.00	\$	910.00
8	NE 3rd Avenue from NE 16th St up to NE 17th Court and NE 3rd Avenue~ Intersection only on east side of road (along fence line)	Mowing	26	Each	\$ 175.00	\$	4,550.00
9	Riomar St. from Birch Rd to N. Atlantic Blvd.	Hedge Service Only	9	Each	\$ 225.00	\$	2,025.00
10	Bayview Dr. first two beds south of Commercial Blvd.	Hedge Service Only	9	Each	\$ 70.00	\$	630.00
11	Bayview Dr. and Oakland Park Blvd. north of Oakland - first two beds	Hedge Service Only	9	Each	\$ 70.00	\$	630.00
UTILITY	PLANTS						
12	G.T. Lohmeyer, 1765 SE 18th St.	Mowing	26	Each	\$ 300.00	\$	7,800.00
13	Trash Transfer Plant A, 2100 NW 6th Street (inside fenced lot)	Mowing	26	Each	\$ 500.00	\$	13,000.00
14	Hedge Service for above area	Hedge	9	Each	\$ 25.00	\$	225.00
15	Trash Transfer Plant A, 2100 NW 6th St. (all swale areas around perimeter fence)	Mowing	26	Each	\$ 100.00	\$	2,600.00
16	Monday litter removal service – north, south and east swales outside fence (performed on non-mow /trim weeks – up to 26 services/year)	Litter Removal	26	Each	\$ 75.00	\$	1,950.00
17	Fiveash Water Plant and Administration Buildings, 4321 NW 9th Ave (excluding Fiveash Bed) – no longer includes pipe yard.	Mowing	26	Each	\$ 700.00	\$	18,200.00
18	Hedge Service for above area	Hedge	9	Each	\$ 200.00	\$	1,800.00
19	Fiveash Water Plant – Radio Tower Pen	Mowing	26	Each	\$ 25.00	\$	650.00

ADDENDUM 5

ltem Number	Description of Locations	Service Needed	# of Annual Services	U/M	Unit Price	Total
20	Peele Dixie Water Plant 1500 S. SR 7	Mowing	26	Each	\$ 650.00	\$ 16,900.00
21	Hedge Service for above area	Hedge	9	Each	\$ 100.00	\$ 900.00
IRE ST	TATIONS					
22	FS No. 47, 1000 SW 27th Ave.	Mowing	26	Each	\$ 75.00	\$ 1,950.00
23	Hedge Service for above area	Hedge	9	Each	\$ 125.00	\$ 1,125.0
24	FS No. 3, 2801 SW 4th Ave.	Mowing	26	Each	\$ 200.00	\$ 5,200.0
25	Hedge Service for above area	Hedge	9	Each	\$ 150.00	\$ 1,350.00
26	FS No. 8, 1022 W. Las Olas Blvd.	Mowing	26	Each	\$ 80.00	\$ 2,080.0
27	Hedge Service for above area	Hedge	9	Each	\$ 100.00	\$ 900.0
28	FS No. 49, 1015 Seabreeze	Mowing	26	Each	\$ 75.00	\$ 1,950.0
29	Hedge Service for above area	Hedge	9	Each	\$ 100.00	\$ 900.0
30	FS No. 13, 2871 E. Sunrise Blvd.	Mowing	26	Each	\$ 100.00	\$ 2,600.0
31	Hedge Service for above area	Hedge	9	Each	\$ 50.00	\$ 450.0
32	FS No. 29, 2002 NE 16th St. and Fire Prevention Station, 2000 NE 16th St. – to include grass area on north side of station adjacent to home at 1601 NE 20th Avenue.	Mowing	26	Each	\$ 175.00	\$ 4,550.0
33	Hedge Service for above area	Hedge	9	Each	\$ 250.00	\$ 2,250.0
34	FS No. 54 (temporary), 3051 NE 33rd Ave. Including area behind fire station.	Mowing	26	Each	\$ 75.00	\$ 1,950.0
35	Hedge Service for above area	Hedge	9	Each	\$ 50.00	\$ 450.0
36	FS No. 35, 1841 E. Commercial Blvd.	Mowing	26	Each	\$ 60.00	\$ 1,560.0
37	Hedge Service for above area	Hedge	9	Each	\$ 100.00	\$ 900.0
38	FS No. 53, 5555 NW 23rd Ave., includes both sides of road on NW 61st St from NW 21st Ave to NW 23rd Ave (road that runs in front of Fire Station 53)	Mowing	26	Each	\$ 700.00	\$ 18,200.0
39	Hedge Service for above area	Hedge	9	Each	\$ 400.00	\$ 3,600.0
40	FS No. 88, 6300 NW 21st Ave. entire five acre lot needs to be mowed – see BCPA.org for property line	Mowing	26	Each	\$ 275.00	\$ 7,150.0

ltem Vumber		Service Needed	# of Annual Services	U/M	Unit Price	Total
41	FS No. 46 (OLD), 1121 NW 9th Ave. (VACANT LOT)	Mowing	26	Each	\$ 100.00	\$ 2,600.00
42	Hedge Service for above area	Hedge	9	Each	\$ 50.00	\$ 450.00
43	FS No. 46, 1515 NW 19th St	Mowing	26	Each	\$ 300.00	\$ 7,800.00
44	Hedge Service for above area	Hedge	9	Each	\$ 150.00	\$ 1,350.00
45	FS No. 2, 528 NW 2nd St.	Mowing	26	Each	\$ 150.00	\$ 3,900.00
46	Hedge Service for above area	Hedge	9	Each	\$ 200.00	\$ 1,800.00
PARKIN	IG LOTS					
47	1112 Sistrunk Blvd. (beside 1120 building)	Mowing	26	Each	\$ 150.00	\$ 3,900.00
48	Brickell parking lot at SW 1st Ave and Broward Blvd.	Hedge Service Only	9	Each	\$ 200.00	\$ 1,800.00
49	Parking medians on SW 13th St from SW 1st Ave to S. Andrews Ave.	Mowing	26	Each	\$ 50.00	\$ 1,300.00
50	Swale and Right-of-ways on SW 14th St from SW 1st Ave to S. Andrews Ave	Mowing	26	Each	\$ 35.00	\$ 910.00
51	SW 15th St. and S. Andrews, both sides of FEC tracks, SW 1st Ave. and Flagler	Mowing	26	Each	\$ 35.00	\$ 910.00
52	Hedge Service for above area (one median, east of tracks)	Hedge	9	Each	\$ 75.00	\$ 675.00
53	Riomar from birch to A1A	Hedge Service Only	9	Each	\$ 225.00	\$ 2,025.00
54	SW 18th St from S. Andrews Avenue to SW 1st Ave.	Mowing	26	Each	\$ 35.00	\$ 910.00
55	Parking Lots I block north of Las Olas Blvd that run from SE 8 Ave to just east of SE 9 Ave. Everything from alley to SE 2 Ct.	Mowing	26	Each	\$ 75.00	\$ 1,950.00
56	Hedge Service for above area	Hedge	9	Each	\$ 50.00	\$ 450.00
57	SE 13th Ave. and SE 2nd Ct. lot	Mowing	26	Each	\$ 50.00	\$ 1,300.00
58	Hedge Service for above area	Hedge	9	Each	\$ 100.00	\$ 900.0
59	SE 15th Ave and SE 2nd Ct. lot. Grass swale on SE 15th Avenue should be trimmed during this service.	Hedge Service Only	9	Each	\$ 100.00	\$ 900.00
60	Las Olas Circle south of Las Olas Blvd. to include parking area, grassy lot to east of Las Olas Circle and grass along seawall	Mowing	26	Each	\$ 300.00	\$ 7,800.00
61	Hedge Service for above area	Hedge	9	Each	\$ 300.00	\$ 2,700.00

ltem Number	Description of Locations	Service Needed	# of Annual Services	U/M	Unit Price	Total
62	Las Olas Parking Lot and Marina north of Las Olas Blvd. on South Birch Rd to and including roundabout at Cortez. All turf from S Birch to Intracoastal. Includes parking area and Marina Buildings.	Mowing	26	Each	\$ 200.00	\$ 5,200.00
63	Hedge Service for above area	Hedge	9	Each	\$ 200.00	\$ 1,800.00
64	Oceanside parking lot, A1A and E. Las Olas	Mowing	26	Each	\$ 100.00	\$ 2,600.00
65	Hedge Service for above area	Hedge	9	Each	\$ 175.00	\$ 1,575.00
66	Beach Community Center, 3351 NE 33rd Ave.	Mowing	26	Each	\$ 125.00	\$ 3,250.00
67	Hedge Service for above area	Hedge	9	Each	\$ 225.00	\$ 2,025.00
68	NE 32nd St. from A1A to NE 32nd Ave	Mowing	26	Each	\$ 25.00	\$ 650.0
69	Hedge Service for above area	Hedge	9	Each	\$ 25.00	\$ 225.00
70	NE 33rd St from A1A to NE 32 Ave.	Mowing	26	Each	\$ 75.00	\$ 1,950.00
71	Hedge Service for above area	Hedge	9	Each	\$ 25.00	\$ 225.0
72	Commercial Blvd. from US1 to Intracoastal – planters inside of parking areas only	Hedge Service Only	9	Each	\$ 100.00	\$ 900.00
73	Oakland Park Boulevardl Blvd. from US1 to Intracoastal – planters inside of parking areas only	Hedge Service Only	9	Each	\$ 100.00	\$ 900.00
74	Oakland Park Blvd at Bridgeside Square Parking Lot at NE 33rd Ave and NE 30th Court swale along the sidewalk area of NE 33rd Avenue	Hedge Service Only	9	Each	\$ 75.00	\$ 675.0
75	Egg and You – (service to include weed eating small grass swale in front of Egg and You)	Mowing	26	Each	\$ 50.00	\$ 1,300.0
76	Hedge Service for above area	Hedge	9	Each	\$ 125.00	\$ 1,125.0
otal Pr	roject Cost					\$ 223,565.00

NON-COLLUSION STATEMENT:

By signing this offer, the vendor/contractor certifies that this offer is made independently and *free* from collusion. Vendor shall disclose below any City of Fort Lauderdale, FL officer or employee, or any relative of any such officer or employee who is an officer or director of, or has a material interest in, the vendor's business, who is in a position to influence this procurement.

Any City of Fort Lauderdale, FL officer or employee who has any input into the writing of specifications or requirements, solicitation of offers, decision to award, evaluation of offers, or any other activity pertinent to this procurement is presumed, for purposes hereof, to be in a position to influence this procurement.

For purposes hereof, a person has a material interest if they directly or indirectly own more than 5 percent of the total assets or capital stock of any business entity, or if they otherwise stand to personally gain if the contract is awarded to this vendor.

In accordance with City of Fort Lauderdale, FL Policy and Standards Manual, 6.10.8.3,

- 3.3. City employees may not contract with the City through any corporation or business entity in which they or their immediate family members hold a controlling financial interest (e.g. ownership of five (5) percent or more).
- 3.4. Immediate family members (spouse, parents and children) are also prohibited from contracting with the City subject to the same general rules.

Failure of a vendor to disclose any relationship described herein shall be reason for debarment in accordance with the provisions of the City Procurement Code.

NAME	RELATIONSHIPS
NIA	NIA

In the event the vendor does not indicate any names, the City shall interpret this to mean that the vendor has indicated that no such relationships exist.

LOCAL BUSINESS PREFERENCE CERTIFICATION STATEMENT

The Business identified below certifies that it qualifies for the local BUSINESS preference classification as indicated herein, and further certifies and agrees that it will re-affirm it's local preference classification annually no later than thirty (30) calendar days prior to the anniversary of the date of a contract awarded pursuant to this ITB. Violation of the foregoing provision may result in contract termination.

(1)	Sec.2-199.2. A copy of the City of Fort Lauderdale Ordinance No. C-12-04, Sec.2-199.2. A copy of the City of Fort Lauderdale current year Business Tax Receipt and a complete list of full-time employees and evidence of their addresses shall be provided within 10 calendar days of a formal request by the City.
Business Name	
(2) CEMLA-DSCAPINGING Business Name	is a Class B Business as defined in the City of Fort Lauderdale Ordinance No. C-12-04, Sec.2-199.2. A copy of the Business Tax Receipt <u>or</u> a complete list of full-time employees and evidence of their addresses shall be provided within 10 calendar days of a formal request by the City.
Basiliass Hallis	
(3)	is a Class C Business as defined in the City of Fort Lauderdale Ordinance No. C-12-04, Sec.2-199.2. A copy of the Broward County Business Tax Receipt shall be provided within 10 calendar days of a formal request by the City.
Business Name	
(4)	requests a Conditional Class A classification as defined in the City of Fort Lauderdale Ordinance No. C-12-04, Sec.2-199.2. Written certification of intent shall be provided within 10 calendar days of a formal request by the City.
Business Name	
(5)	requests a Conditional Class B classification as defined in the City of Fort Lauderdale Ordinance No. C-12-04, Sec.2-199.2. Written certification of intent shall be provided within 10 calendar days of a formal request by the City.
Business Name	
	is considered a Class D Business as defined in the City of Fort Lauderdale Ordinance No. C-12-04, Sec.2-199.2. and does not qualify for Local Preference consideration.
(6)	
Business Name	
BIDDER'S COMPANY: CEM	LANdraphyine
AUTHORIZED COMPANY PERS	
is in a manage as in that I play	NAME SGNATURE DATE

CONTRACT PAYMENT METHOD BY P-CARD

THIS FORM MUST BY SUBMITTED WITH YOUR RESPONSE

The City of Fort Lauderdale has implemented a Procurement Card (P-Card) program which changes how payments are remitted to its vendors. The City has transitioned from traditional paper checks to payment by credit card via MasterCard or Visa. This allows you as a vendor of the City of Fort Lauderdale to receive your payment fast and safely. No more waiting for checks to be printed and mailed.

Payments will be made utilizing the City's P-Card (MasterCard or Visa). Accordingly, firms must presently have the ability to accept credit card payment or take whatever steps necessary to implement acceptance of a credit card before the commencement of a contract.

lease indicate which credit card payn	nent you prefer:
Master Card	
Visa Card	
Company Name: CEM LAMOS	reaping Inc
Clinton whaley Name (printed)	Signature Signature
10/23/17	Press dut
Date:	Title



CERTIFICATE OF LIABILITY INSURANCE

07/07/2017

THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER.

REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER.

IMPORTANT: If the certificate holder is an ADDITIONAL INSURED, the policy(les) must have ADDITIONAL INSURED provisions or be endorsed. If SUBROGATION IS WAIVED, subject to the terms and conditions of the policy, certain policies may require an endorsement. A statement on this partition to the certificate heads and the conditions of the policy, certain policies may require an endorsement.

-	is certificate does not confer rights to	rtificate holder in lieu of s	of such endorsement(s). CONTACT NAME: Barry Sanders							
-										
	ght Insurance Of Broward			(A/C, No, Ext): (934) 362-5244 (A/C, No): (934) 362-5263						
125	59 S. Pine Island Rd.			E-MAIL ADDRESS: barry@knightinsuranceoffice.com						
	1.00		Sal Closes			IDING COVERAGE		NAIC#		
_	ntation		FL 33324	INSURERA: TRAVELERS INDEMNITY COMPANY OF CONN					36137	
NSU	RED			INSURER B: FU	BA					
	C & M LANDSCAPING INC			INSURER C:						
	1548 NW 12th Terr			INSURER D:						
				INSURER E:						
	Ft Lauderdale,		FL 33311	INSURER F:						
_			E NUMBER:				REVISION NUMBER:			
IN	HIS IS TO CERTIFY THAT THE POLICIES DICATED. NOTWITHSTANDING ANY RE ERTIFICATE MAY BE ISSUED OR MAY I KCLUSIONS AND CONDITIONS OF SUCH	QUIREM	ENT, TERM OR CONDITION, THE INSURANCE AFFOR	N OF ANY CONT	RACT	OR OTHER	DOCUMENT WITH RESPE D HEREIN IS SUBJECT T	CT TO	WHICH THIS	
ISR TR	TYPE OF INSURANCE	ADDL SUI	POLICY NUMBER	POLICY	EFF.	POLICY EXP	LIMIT	8	-	
.IR	X COMMERCIAL GENERAL LIABILITY	INSDIW	POLICI ROMBER	(mm/OU/)		midUU/TTTT)	EACH OCCURRENCE	s 1,00	0.000	
	CLAIMS-MADE X OCCUR						DAMAGE TO RENTED PREMISES (Ea occurrence)	s 100.		
	J GDANIONADE [74] GOOGLE						MED EXP (Any one person)	\$ 5,00		
A		Y	I-660-7052X331-TCT-1	04/07/2	017	04/07/2018	PERSONAL & ADV INJURY	s 1,00		
•	GEN'L AGGREGATE LIMIT APPLIES PER:	1	. 555 1 552/1001-101-1	O a o n a	,,,,		GENERAL AGGREGATE	s 2,00		
	X POLICY PRO- LOC						PRODUCTS - COMP/OP AGG	\$ 2,00		
					- 1		PRODUCTS - COMPIOP AGG	\$ 2,00	0,000	
-	AUTOMOBILE LIABILITY	-	 		-		COMBINED SINGLE LIMIT	\$	_	
	ANY AUTO						(Ea accident) BODILY INJURY (Per person)	\$		
	OWNED SCHEDULED									
	HIRED AUTOS ONLY AUTOS NON-OWNED						BODILY INJURY (Per accident)	_		
	AUTOS ONLY AUTOS ONLY						PROPERTY DAMAGE (Per accident)	\$		
_		-			-	_		\$		
	UMBRELLA LIAB OCCUR						EACH OCCURRENCE	\$		
	EXCESS LIAB CLAIMS-MADE						AGGREGATE	S		
	DED RETENTIONS	-			-+		DED I LOTU	\$		
	WORKERS COMPENSATION AND EMPLOYERS' LIABILITY Y/N						PER OTH-		100	
В	ANY PROPRIETOR/PARTNER/EXECUTIVE N	N/A	10652409	06/15/2	017	06/15/2018	E.L. EACH ACCIDENT	\$ 100,		
	(Mandatory in NH) If yes, describe under			1			E.L. DISEASE - EA EMPLOYEE	s 100,	000	
	DESCRIPTION OF OPERATIONS below				_		E.L. DISEASE - POLICY LIMIT	\$ 500,	,000	
	CRIPTION OF OPERATIONS / LOCATIONS / VEHICLE WIN Maintenance and Landscaping	LES (ACO	RD 101, Additional Remarks Sche	dule, may be attached	if more	space is requi	red)			
	y of Ft. Lauderdale is listed as an addition	nal insu	red on the Commercial Ge	neral Liability poli	cv ner	contract				
Oit	y or t it caucerdate to notice as an addition	ila irisu	ica on me commercial oc	neral Elability Poli	cy per	Consider				
Œ	RTIFICATE HOLDER			CANCELLAT	ION					
	City of Ft. Lauderdale Procurement Services Division	on		THE EXPIR	ATION	DATE TH	DESCRIBED POLICIES BE EREOF, NOTICE WILL CY PROVISIONS.			
	100 N Andrews Ave.		AUTHORIZED REPRESENTATIVE							
	Ft. Lauderdale		FI 33301	C 2		7	ORD CORPORATION.			

AGORD 25 (2016/03)

The ACORD name and logo are registered marks of ACORD

State of Florida Department of State

I certify from the records of this office that C & M LANDSCAPING, INC. is a corporation organized under the laws of the State of Florida, filed on March 6, 2002.

The document number of this corporation is P02000027417.

I further certify that said corporation has paid all fees due this office through December 31, 2017, that its most recent annual report/uniform business report was filed on March 22, 2017, and that its status is active.

I further certify that said corporation has not filed Articles of Dissolution.

Given under my hand and the Great Seal of the State of Florida at Tallahassee, the Capital, this the Twenty-second day of March, 2017



Secretary of State

Tracking Number: CC6379124091

To authenticate this certificate, visit the following site, enter this number, and then follow the instructions displayed.

https://services.sunbiz.org/Filings/CertificateOfStatus/CertificateAuthentication



CITY OF FORT LAUDERDALE BUSINESS TAX YEAR 2016-2017

BUSINESS TAX DIVISION 100 N. ANDREWS AVENUE, 1ST FLOOR, FORT LAUDERDALE, FLORIDA 33301 (954) 828-5195

1548 NW 12 TER Name: C & M LANDSCAPING INC Business ID: 9042046

Business AddregandsCaping-TREE SURGEON & TRIMMING699231

Tax Category: Tax#: Fee:

C & M LANDSCAPING INC MILTON SCOTT 1548 NW 12 TER FORT LAUDERDALE, FL 33311

DETACH AND POST THIS RECEIPT IN A CONSPICUOUS PLACE

Business ID:

9042046

Tax Number:

699231

Business Name: C & M LANDSCAPING INC

Business Owner:

Business Address: 1548 NW 12 TER
Business Owner: WHALEY, CLINTON L H/E WHALEY, SHANDA

- This Receipt is issued for the period commencing October 1st and ending September 30th of the years shown above.
- If you have moved out of the city, please provide a written statement.
- A transfer of business location within the city limits is subject to zoning approval. Please complete a Business Tax Transfer Application and bring it to our office to obtain the necessary approval.
- A Transfer fee applies of 10% of the annual business tax fee. The fee shall not be less than \$3.00, nor greater than \$25.00.
- If you have sold your business, please provide us with a copy of the Bill of Sale.

Please be advised that this issuance of a Business Tax Receipt establishes that the business you intend to conduct is a use permitted by the City Zoning Code for the location at which you intend to operate. The issuance of a Business Tax Receipt in no way certifies that the property located at this address is in compliance with other provisions of the City Code of Ordinances.

> BUSINESS TAX DIVISION 100 N. ANDREWS AVENUE, 1ST FLOOR, FORT LAUDERDALE, FLORIDA 33301 TEL (954)828-5195 FAX (954)828-5881 WWW.FORTLAUDERDALE.GOV